
Seat No._______________    Enrolment Number:________________ 
 

C. U. Shah University, Wadhwan City 
Summer 2015 

Course: Diploma (Mech)       Semester: IV 

Subject Name: Theory of Machines     Total Marks: 70 

 

 

English 

Q-1  Explain  Following Terms 14 

 (A) Kinematics  

 (B) Structure  

 (C) Higher pair  

 (D) Limiting friction   

 (E) Angle of repose  

 (F) Angular acceleration  

 (G) Pressure angle  

 (H) Linear velocity  

 (I) Pitch point  

 (J) Module  

 (K) Slip  

 (L) Co efficient of fluctuation of speed  

 (M) Hunting of governor  

 (N) Resonance  

  Attempt any four questions from following.  

Q-2 (A) Classify kinematic pair and explain any three of them. 7 

 (B) Write inversions of single slider chain mechanism and explain any one of them. 7 

Q-3 (A) Explain Klein’s construction method of finding the velocity and acceleration of 

the point on single slider chain mechanism. 

7 

 (B) In a single steam engine the length of crank and connecting rod are 100 mm and 

400 mm respectively. The Centre of mass of connecting rod is 220 mm from the 

crank pin centre. If the engine speed is 400 RPM. Determine graphically 

absolute velocity and acceleration of C.G. of connecting rod when the crank has 

turned 450 clock wise from inner dead centre.   

7 

Q-4 (A) Explain various types of cams and followers with neat sketches.  7 

 (B) Draw a cam profile with the following data for knife edge follower which is 

moving along a radial line. 

1) Outward stroke takes place with S.H.M. during 1200 of cam rotation. 

2) The follower remains at rest in the highest position during 300 of cam 

rotation. 

3) Return stroke takes place during 900 of cam rotation with S.H.M. and 

follower remains at rest for the remaining period.  

The stroke of the follower is 50 mm and base circle radius 40 mm. the cam 

rotates in clock wise direction with uniform speed.   

7 

Q-5 (A) State the function of clutch and explain the single plate clutch with neat sketch 7 

 (B) Explain any one type of absorption dynamometer with neat sketch. 7 

Q-6 (A) Derive an expression  
𝑇1

𝑇2
 = 𝑒𝜇𝜃 for limiting tension in the belt. 7 
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 (B) State advantages and disadvantages of V-belt drive over flat belt drive. 7 

Q-7 (A) Differentiate between governor and flywheel with respect to their main purpose. 7 

 (B) The turning moment diagram for a multi – cylinder engine has been drawn to 

scale 1 mm = 600 Nm on Y – axis and 1 mm = 30 on X – axis. The area of 

output torque curve taken in order are as following. 

   +52,-124, +92,-140, +85,-72 and +107 mm2. 

The engine is running at speed of 600 RPM. Total fluctuations of speed is not 

exceeding ±1.5 of the mean, find mass of flywheel, if radius of flywheel is 

0.5m. 

7 

Q-8 (A) Explain various types of vibration and state the remedies to reduce the 

vibrations. 

7 

 (B) Two weights of 10 Kg and 16 Kg rotate in the same plane at a raddi of 1.5 m 

and 2.25 m respectively. The raddi of weights are 900 apart. Find the position of 

the third weight of magnitude 12 Kg in the same plane, which can produce 

complete dynamic balance of the system  

7 
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ગજુરાતી 

પ્ર-૧  નીચેનાપદોસમજાવો. ૧૪ 

 (A) કાયનેમેટીક્સ  

 (B) સ્ટ્રક્ચર  

 (C) હાયરપેર  

 (D) સસમાાંતઘર્ષણ  

 (E) સવશ્રામકોણ  

 (F) કોણીયપ્રવેગ  

 (G) પ્રેસરએંગલ  

 (H) રેખીયવેગ  

 (I) પીચપોઈંન્ટ  

 (J) મોડ્યલુ  

 (K) સ્ટ્લીપ  

 (L) સ્ટ્પીડ્વધઘટગણુાાંક  

 (M) ગવનષરનુાંહાંટીંગ  

 (N) રેઝોનન્સ  

  નીચેનાપ્રશ્નોપૈકીકોઇપણચારનાજવાબોલખો.  
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પ્ર-૨ (A) કાયનેમેટીકપેરનુાંવગીકરણકરીકોઈપણત્રણસમજાવો.  ૭ 

 (B) સીંગલસ્ટ્લાઈડ્રચેઈનસમકેનીઝમનાઉત્ક્રમણોલખીઅનેકોઈપણએકસમજાવો. ૭ 

પ્ર-૩ (A) સીંગલસ્ટ્લાઈડ્રચેઈનસમકેનીઝમપરઆવેલાકોઈપણબબિંદુનોવેગકેપ્રવેગશોધવામાટેની 
“ ક્લીનનીરચના “ સમજાવો.  

૭ 

 (B) એકસાદાવરાળયાંત્રમાાંતેનીરેંકઅનેકનેક્ટીંગરોડ્નીલાંબાઈઅનરુમે100 મી.મી. તથા400  

મી.મી. છે. કનેક્ટીંગરોડ્નુાંગરુુત્ક્વકેંદ્રકનેક્ટીંગરોડ્નારેંકપીનવાળાછેડ્ાથી220મી.મી. 
દુરઆવેલુાંછે. 
તોઆગરુુત્ક્વકેંદ્રનોસનરપેક્ષવેગતથાસનરપેક્ષપ્રવેગઆલેખીયરીતેનક્કીકરો.જોએન્ીનની
ગસત400 આંટાપ્રસતસમનીટહોયતોરેંકજ્યારેઘડ્ીયાળનાકાાંટાનીદદશામાાંI.D.C. થી450 

નાખણેુસ્સ્ટ્થસતધરાવતોહોયતેમઆલેખો.   

૭ 

પ્ર-૪ (A) જુદાજુદાકેમતથાફોલોઅરનેસ્ટ્કેચદ્રારાસમજાવો. ૭ 

 (B) એકનાઈફએઈજફોલોઅરનીચેપ્રમાણેગસતધરાવેછેઅનેરેડ્ીયલદદશામાાંગસતકરેછે. 
તેનોયોગ્યકેમપ્રોફાઈલદોરો. 
(૧) આઉટવડ્ષસ્ટ્રોક૧૨૦0સધુીસરળઆવતષગસતસાથેથાયછે.  
(૨) પછીના૩૦0સધુીફોલોઅરમહતમઉંચાઈનીસ્સ્ટ્થસતઉપરસવશ્રામકરેછે.  
(૩) પછીના૯૦0 સધુીસરળઆવતષગસતથીરેટનષસ્ટ્રોકથાયછે. 
પછીબાકીનાસમયમાાંફોલોઅરસવશ્રામકરેછે. ફોલોઅરનોસ્ટ્રોક૫૦મી.મી. છે. 
તથાબેઈઝવર્ુષળનીસત્રજ્યા૪૦મી.મી. છે. 
કેમએકધારીગસતથીઘડ્ીયાળનાકાાંટાનીદદશામાાંગસતકરેછે.  

૭ 

પ્ર-૫ (A) ક્લચનુાંકાયષજણાવોતથાસીંગલપ્લેટક્લચનેસ્ટ્પષ્ટઆકૃસતસાથેસમજાવો. ૭ 

 (B) સ્ટ્વચ્છઆકૃસતદોરીકોઈપણએકપ્રકારનોઅવશોર્ણડ્ાયનેમોમીટરસમજાવો. ૭ 

પ્ર-૬ (A) બેલ્ટમાાંઉત્ક્પનથતા બલમીટીંગટેન્શનમાટે𝑇1
𝑇2

 = 𝑒𝜇𝜃સતુ્રતારવો. ૭ 

 (B) સપાટપટ્ટાનીસરખમણીએ “વી”પટ્ટાનાફાયદાઓઅનગેેરફાયદાઓજણાવો. ૭ 

પ્ર-૭ (A) ગવનષરઅનેફ્લાયવ્હીલતેમનામળુહરે્નેુધ્યાનમાાંરાખીનેએકબીજાથીકઈરીતેજુદાપડ્ેછે
તેસમજાવો. 

૭ 

 (B) એકમલ્ટીસસબલન્ડ્રએન્ીનમાટેટનીંગમોમેન્ટડ્ાયાગ્રામનીચેનાસ્ટ્કેલમજુબદોરેલછે. 
X- અક્ષપર1 mm = 600 Nm  

Y- અક્ષપર1mm = 30  

૭ 
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આઉટપટુટોકષકવષનોસવસ્ટ્તારનીચેમજુબલેવામાાંઆવેલછે. 
+52,-124,+92,-140,+85,-72 અને +107 mm2. એન્ીનનીસરેરાશઝડ્પ600 

આંટાપ્રસતસમનીટછે. ઝડ્પનીકુલવધઘટએન્ીનનીસરેરાશઝડ્પના±1.5 % 

કરતાવધતીનહોયત્ક્યારેફ્લાયવ્હીલનુાંદળશોધો. ફ્લાયવ્હીલનીસત્રજ્યા0.5 m લો 
પ્ર-૮ (A) વાઈબે્રશનનાસવસવધપ્રકારોસમજાવોતથાવાઈબે્રશનઘટાડ્વામાટેનાઉપાયોજણાવો.  ૭ 

 (B) 10 Kg અને16 Kgનાબેવજનઅનરુમે1.5 m અને2.25 m 

સત્રજ્યાનાતરતરેએકજપ્લેનમાએક્બીજાનીસત્રજ્યાથી900નાખણેુફરેછે. 
હવેએક12Kgનાવજનનેકઈપોઝીશનમાાંતેજપ્લેનમાાંમકૂતાાંતેસસસ્ટ્ટમમાાંસ ાંપણૂષડ્ાયનેસમક
બેલેન્સીંગથશે? 

૭ 

 


